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15| F17 ISR EFDE#A 0.10 | 0.11 [3&|7]0.12 [0.12 |m|=]| 1/10
16| G15 |IEEXRFFHES A 0.07 | 0.08 || 7[0.09 [0.08 |#|7| 1/9
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18| H16 [EDEmIB/\REfHA 0.09 | 0.08 [5&|7[0.10 [0.10 |m|=| 1,9
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23| K16 [{EEHNEE400E A EFES| 0.11 | 0.11 (8| 7/(0.15 |0.14 B |&E| 1/9
24| M17 |EH# LA KEBEIBAOMNEA 0.20 | 0.21 |#|7(0.30 [0.28 |Bi|Z| 1/9
25| M18 | AR/ \R =41 0.14]|0.17 |&|7[0.22 |0.23 |m|z=|] 1,9
26| M23 |F#EREF L 2N 0.16 | 0.22 |&|7[0.20 [0.26 |m|z| 1/6
27| N14 |E; B3R ERAOMMESE| 013|012 [#&|7(0.18 [0.16 || =| 1/8
28| N15 [BFiRasa=F+t>5—AO45E| 014 012 [&] 7(0.21 |0.22 ||z 18
20| N17 [ZH )N JLIERANZAE{E [ 0.22]0.21 [#&]7(0.25 (023 (B &  1/9
30/ N18 [BARE{EE A 0.14 | 0.14 || 7[0.22 [0.26 |B|Z| 1/9
31 N19 [£RFIE LA 0.20 | 0.23 |i&|7|0.29 (0.30 B |=| 1/6
32| N20 |1EGHE R 0.18|0.20 |#|7[0.28 [0.30 |B|Z| 1/6
33| N21 |&iR#th N 0.24]0.26 |5&|7(0.39 |0.38 | B |z| 1/20
34| N22 [&RFaZa=T,t 48—tk | 0.17]0.17 |&| 7[0.25 |0.27 |®|Z| 1/6
35| N23 |FF#BE7ih A 0.18] 0.21 |&|7[0.29 [0.27 |m|z=| 16
36| N24 |F#BEFith N Bl BAE (b 0.16 | 0.17 |&| 7[0.27 |0.28 |m|z=| 16
37| 013 |;ZEMXESG TR 0.14 (012 [&|7|0.21 |0.19 |B|Z| 1/6
38| 014 |EAKRE A 0.11|0.10 |&|7|0.15 [0.14 | |Z| 1/6
39| O15 |EA#AF LB A RBRAHE 0.14(0.11[&|7]0.17 |0.17 ||| 1/8
40| 016 [EFFR#hIA 0.15|0.16 |3&|7[0.20 [0.23 | |=| 1/8
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43| 019 | FHEF/\R {24+ 0.19/0.16 || 7[0.36 [0.35 |M|z=| 1/6
44| 020 | KEF2KM{tia 0.22|0.18 |&|7[0.30 [0.28 |M|z=| 1/6
45| 021 |£RP L REA DO 0.17|0.15 |#%|7{0.30 [0.28 |#|Z| 1/6
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51| P12 |BEAHIA 0.11]0.10 |&|7|0.14 |0.13 B |=| 1/6
52| P13 |BENh N gki& {4 0.13|0.12 |&|7[0.22 [0.17 |#|Z| 1/6
53| P14 |BEEEY)— 42— AOE| 0.20] 0.17 [ 4| 7[0.25 [0.24 |®|z=| 16
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67 Q7 | KDIEREEFHEIGHA 0.09 | 0.08 [Et| 7|0.16 |0.14 |B|Z| 1/5
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69| Q9 [BEFAHHNA 0.15]|0.12|%|7|0.18 |0.15 B |=| 1/6
70| Q10 |EHE2ELHEMtE2—A[0.10[0.10 [i&| 7[0.20 |0.18 |B|L£]| 1/6
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76| Q16 |ITF R 0.10 | 0.11 |3&|7[0.13 [0.17 | |Z=| 1/8
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89| R8 |[yURMIAFI—2 &S 0.10 | 0.10 |& | 7[0.19 [0.17 | |Z&| 1/5
90| R9 [7URERBEI/NNRE{TAE 0.10 [ 0.10 |3&|7[0.12 [0.10 | |=| 15
91| R10 |BEM#FHEAREA O 0.13|0.12 |&|7[0.14 [0.13 ||| 1/6
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95| R14 [#&MTE RS MIES (TR 0.11]0.12|#|7[0.25 [0.25 |m@|#| 1/6
96| R15 |S#ith N 0.14(0.12[#|7(022 |0.18 |[M|Z&| 1/6
97| R16 |’HFAEE A URIE4-3) {43k 0.15/0.16 |3&|7[0.21 [0.24 |®|Z| 1/8
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99| R18 [FAM MM NFT KRB 0.13[0.15[#|7|0.21 |0.17 |M®|&| 18
100| R20 |BRZEEBy AN E/ABEAO4HE [ 0.20(0.20 [5&|7(0.30 [0.30 | |z| 1/7
101| R21 |E#4ocoemaBrEABAREEHE | 0.23]0.26 |3 7(0.42 (043 || & 1/7
102| R22 |E#@400EFEIEFIEEICH| 0.27 | 0.27 |%|7[0.33 [0.33 |M|Z| 1/6
103| R23 |WR T 2[#R4S S5y RHA | 013 [ 0.13 %] 7(0.18 [0.19 [#m|=| 1/6
104| R24 |UXETHNEM S /KEZES | 0.13[0.13 |&|7]0.20 [0.20 |B|=| 1/5
105| R25 | = XET/\R{EHiR 0.10 [ 0.10 [3&|7|0.10 [0.10 |mi|=| 1/5
106| R26 |=XETH1 A ZE m ik 0.11]0.12 |[&|7]0.20 [0.20 | |=| 1/5
107| S7 [BHFEMEFE R2—FHE [015[012[i&| 7020 (017 [#H|&]| 1/5
108| S8 [HFHANTTFIETZ>TFH x| 0.12(0.09 |&|7|0.17 [0.19 || =& 1/5
109] S9 |7URMIIA 0.10|0.09 |i&| 7|0.16 [0.15 |B|=| 1/5
110{ S10 |ZEXRAO/NRESA 0.13|0.11 |5&|7|0.18 [0.16 | |Z=| 1/5
111 S11 |&itEHh A 0.11]0.10|#|7[0.25 [0.22 |m|z=| /6
112] S12 |[#mEsr-rrrLEaEEADME | 012 0.10 [&] 7/0.18 [0.18 [#m|=| 176
113 S13 |[fA#H A 0.12(0.10 [i&|7|0.23 |0.19 |B|Z| 1/6
114| S14 |EMHNKFEBYIES 0.18(0.17 [%|7|0.26 |0.24 |B|Z| 1/6
115 S15 | FTORNZ BRIESRADOME| 011 0.11 [%]|7[0.11 [0.10 [&|®]| 1/6
116] S16 | LHEMAREE[A 0.13|0.12 |&|7[0.18 [0.14 |®|=| 1/8
117] S17 | bR BB EREI AR 020 020 [&]| 7023 (023 [®m|=]| 18
118 S18 |#EMHAF KB 0.15(0.15 [i&|7[0.20 |{0.20 | |Z&Z| 1/5
119] S19 | FARFIKIGHA 0.14 | 0.13 |3&|7(0.23 [0.21 |®|Z=| 15
120 S20 [EFE KN 0.28 | 0.27 |%|7(0.37 |0.45 |B|Z=| 1/7
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131 T11 |[HEEERFHIES 0.12[0.10 |%|7]0.22 0.18 |m|=| 15
132| T12 |FA#A 0.12|0.10 |:&|7[0.23 [0.23 |m|z=| /6
133| T14 |[S#MHA 0.13[0.12[#|7(0.28 |0.29 M |Z&| 1/6
134| T15 | REA 0.10(0.09 [i#|7|0.17 |0.15 |B|Z&| 1/6
135| T16 [AEZ BMIESHEFE [ 0.13[0.11 |5&|7[0.30 [0.26 | |z| 1/7
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142| T23 |FAFRE/NREiA 0.12|0.13 || 7[0.23 [0.22 |®|z| 1/7
143| T24 |FAFEMAID/KEYXES|0.12(0.14 5| 7(0.17 |0.18 |K|&E| 1/5
144| T25 | = XETH A T=THRRLD 0.14]0.20 |[&|7[0.26 |0.25 | @ |z| 1/5
145| T26 |EE45—RIEE 0.10 | 0.11 || 7[0.19 [0.21 |®|Z| 1/5
146| T27 | ZXETH AR ZE & 0.10]0.11 [i&|7|0.13 (012 |B|=| 1/4
147| T28 | XETHNTEIER Z S {13k | 0.14 [ 0.12 & | 7[0.20 [0.20 | |Z| 1/4
148| T29 |EEFEMAEH FALGABEETE| 0.09 | 008 |&E|7[0.10 [0.14 |H|z=| 1/4
149| T30 |EE461 5 KARTIE 0.12(0.10(%|7|0.12 |0.12 |B|Z&| 1/4
150] U8 [#TTihN 0.13[0.10 [&|#|0.20 |0.17 ||| 1/5
151 U9 |FHiA 0.11]0.11 |&|7[0.21 |0.18 | M |&| 1/5
152| U10 |F H/KID A E ik 0.11]0.11|%|7]0.31 [0.26 |B|=| 1/5
153| U1l [F R 0.15(0.13 [&|7|0.22 |0.19 |®|=| 1/5
154| U12 [E RN 0.11[0.11[&|7|0.15 |0.14 |B|Z&| 1/6
155| U13 [F RN 0.13|0.10 |3&|7[0.26 [0.25 |B|Z=| 1/6
156| U14 |E &R 0.13]/0.12 |&|7[0.33 [0.37 | |z| 1/6
157| U15 |Edh KB S #4EF3a | 0.10 [ 0.09 || 7(0.16 [0.15 |&|Z=| 1/6
158| U16 | LSRR T EM#hA 0.15|0.10 |i&| 7|0.15 [0.13 B |=| 1/7
159| U17 |BEEBZ HESHEfTk [ 015[0.13 |&|7(0.22 [0.18 [m|&| 1/7
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